R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDl.- DR-865 (Sub ID 6622) Masonite FG Opaque (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, TX-4669

¥ Endura

PERFORMANCE STANDARD

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Trilennium)
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

o~ JWIN

74" MAX. O.A. FRAME WIDTH

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT (OUTSWING) ~

ul")
LN
£ 0
Jo 12
E- n Ll
£ 3 [ w
S Bz
N OmW o
o« Z Z
L G
. & o
:(n -
s o I
] 8a Z
c Sftm 9
3 Jpg© 0
> 0
a>n H‘_‘
Zoon S
5 8R. &
(i) § o
O xz
Rl 0 L
2 gmo o
c
g_ ='o'o Q
[ a A 5
o ra 3
® ;E m
L od
c
o §
NS
3 =
0
(a

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:
i

B

UPDATE TO 2018 IBC/IRC CODE

9/19/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

L
<
()
S
Z
6

DATE: 11,/09/'1

SCALE:  N.T.S.

XX INSWING +35.0
PINE
XX OUTSWING +60.0 -60.0
XX INSWING +35.0 -35.0
"FusionFrame"
XX OUTSWING +50.0 -50.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4669

SHEET 1 oF 6

@ 2016 R.W. BUILDING CONSULTANTS INC.



CON| SLNVLINENDOZ aNIaQung "M 9102 @
ZS8LL~4 # NOLLVMISIONN 40 ILVOLILNIO SNOISIAIY
SUIINIONZ TYNOISS3408d 40 QuVOoE SVXAL «2%&&@&«&&%@@%3 A8 31v3 [ONjw© 6_
L6L6'6S9°CL8 FON PUOUd . 3000 0¥1/281 810z 0L 31vadn Juix 2] 3
S6GES “1d OSUIDA 0CZ Xog °O'd \Sv@ PATEWISSY MO L¥Vd | 57 %® NOUdO ,owbijuoisny, dav|6i/61/6] t |- .98
“ONI "SINVLINSNCD SNIgUNg ~ Z m Aw. Zh
_£2130Lf “I'd SvxaL VYNANT NEI A
3'd IPIUYDSS 4 uopull Ag peapdesg sjuewnsoQ “.._.IIIII...IQDQOM g |3 % Xz u
[~ 2Kl Q (S~ W
in
N
o3 WOL04
4 !
)
g b
\
Pl =
Z Tk
Ned o~
in
™~
[+2]
(8]
1 C
.0
=
b5
. . &
9 R0B
9 T B
: . L5
$ 8
5 ® 2
% o
TII
= <
2| S g
- = O
~in W —
N o - o)
N <
5 :
o o
O _ <
=z o] -
<C : L
3 5
— Or
3 E
$  3E
= el =4
< 5
8 Q
a.
(3%}
X
&
: &
(o]
S
~
d0Ol

Upper Boli Sleeve
{Aluminum)

ULTIMATE TRILENNIUM ASTRAGAL

©
>
= S E
S5 2
BV vy D
T 5 @© ..%m
&g 2T @ E
= 2 20 & 2
N - S o<
2 S~ Sox =
3 T3 o 2 o]
o0 ]d Q O —
£ » S g<
5 RO
£ a3
£ )
=2
<

7L 'BMP'ZL LL'69'899Y-X1\sBuimelq - D\(wnuua)ug) anbedp o4 Auose (2299 1 ANS) §98-YQ - 1AL\SUI J0 3daq sexa - G\LNINVINYI einpuI\SIUBID\Y



"ON| BLNVLINENOD SNIQTHUNE "M'Y 9102 9

ZSBL1—d # NOUVHISIOZY 40 ILVOLLNID SNOISIATY
SYIINIONI IVNOISSIA0Nd 40 Quvos Svx3l NIvi3a ONIZVIO % Ad 4ivd [ONj©
SWVI3A T13INVd ¥00d Ol 1 ln 6_
LBL6°659°CL8 I'ON SUOUY . 3000 2&1/081 8102 0L 31vadn Xl 3
GBSEE "4 OOMIDA 0§Z Xog .O.m\h\mu@ "A1EWISSY 30 Ldvd | s ® NOlLdO Bwbpdjuoisnd Qav| 61/6L/6]| | % ~ ~ . n% &
*ONI ‘SINVLINSNOD ONIaHNg . £ g ] 3~
_SzivoLd ‘3'd svxal YHNAN3 ai | M H m S - 5
T'd PIUYDS ‘4 uopuk Ag pe.tpdeld sjuswinoog 110Na0Nd W m W m m z
o
2 =
o
z S
| —
. (B ] |t S ]
WLl oLl 2
[ 7Y
3
W (o]
BN B 3
s
z / ./ \ g
= 8z 5 =
=0 <2 o 3 < oo
[iya) O x o = s -
OO0 ®Q oz < o
=0 @ Q L O g2
M i 0O = et 5 m
s o <
u *
HIVL\ (- ..WN _. T —
w Z
m / m M D -
L N = =W L5
g y///////ﬁ. % 1o I ! roor 2 M = S
€I lond =z G : <
— 582 k¥
R :
#38 (13
& — E=E
- (4 % lnlu m
B g =
& ~_Q
o (H
N
I 58
Q =
R — a
; o
Q< Z g
O 0. &+ ]
= m-w £
Z 2
5
e
(72}
[7¢]
1Y)
24 O
o
O [
o o (&)
m L vl
= = <
< -
Z i = B
<
2 e
oL o o
S 23
mv §
vy
Lol 3]
) \
'y s ——
: Z
=
e b
A = g8
25 Zeg 22
== ol < . ~55 QI
=2 R =
~g Qge 23
v o 2 zZQ
~ a =y
ing
T 5T
el o “ D
oy 2 i ﬁ 23
xI i —
g =3
S IHOBH ANV XYW .ST'6. - r >
. m =
[ 5]
O
O
23

€1 BMPZL 1L 69°899-X L\sBuImeld - D\(wniuua|u ) anbedO o4 ajuoseN (2299 Gl Ans) §98-1A - IAL\SU| 40 3dag sexes - g\LNINVINYId BInpuz\siualid\y



2X FRAMING
(G >=0.42)

\P'

y

&

0

L_

1
N

b

EXT. SHEATHING

\

:‘L:"‘\

DRYWALL

CORNER PADS
(TYP.)

>

/3
7

#10X2-1/2" PFH ¢
¥

2X FRAMING

(G >=0.42)

~—

EXT. SHEATHING ¥

\

DRYWALL
1 p! ‘—' TN

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.8197

, WOOD SCREW i
1/4" MAX. ,
=2 % = 14 MAX. — | WOOD SCREW
SHIM SPACE )
s ] = 00J0o0)]
DOOR PANEL f DOOR PANEL
\ HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650)
W \\
EXTERIOR INTERIOR EXTERIOR INTERIOR
/ 2\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION
\_8_/ Outswing shown - inswing aiso approved \_8_/ Outswing shown - inswing also approved
1/4" MAX. e «ng,g,( 174" MAX.
SHIM SPACE (7P} SHIM SPACE
EXT. SHEATHING JAMB: "FusionFrame"

(1 OR 2-PIECE)

EXT. SHEATHING

N M ey

%LU LR ALY

EALEARLARRARSAAARYY

2X FRAMING
(G >=0.42)

JAMB: PINE

078" o=—] 075" ~=— [~ 075 e / . #10X 2-1/2' PFH =

— — #10X 2-1/2" PFH
COMPOSITE ULTIMATE TRILENNIUM ASTRAGAL
SNAP-ON ”‘;ffg"'gf ENDURA WEATHERSTRIP
CAP (G>=0. ENDURA WEATHERSTRIP (QEBD/PE 650)
\ ‘ {QEBD/PE 650) DOOR PANEL.

%

i S|
SN X 2 2 2 AN
=)l R NN

‘ Es[ orrwaL” / N #10X 2-1/2' PFH ) / ()

N Y 125" = #8 X 2-1/2" PFH #8 X 1" PFH SMS LATCH WOOD SCREW ~ #8X 1"PFHSMS

: —] 125" = WOOD SCREW S STRIKE PLATE  #8 X 1" PFH S HINGE
JAMB /HEAD JAMB/HEAD  JAMB #8 X 3/4" PFH SMS WOOD SCREW
PINE “FusionFrame" "FusionFrame" m HORIZONTAL CROSS SECTION
(1-PIECE) (2-PIECE) W Inswing shown - Outswing also approved

#8 X 2-1/2" PFH
WOOD SCREW

#8 X 3/4" PFH SMS

DRYWALL

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

=
S
2
wo
> =
<
& L B0
> b VS
o =
= 2 2w
3l S@
<| NG
CE
2 ol T
o &
o <C
a. o
2 I
S

UPDATE TO 2018 IBC/IRC CODE

9/19/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

e
<
o)
o
Z
6

oaTE: 11,/09/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4669

sHEET 4 OF 6

© 2016 R.W. BUILDING CONSBULTANTS INC.

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-865 (Sub 1D 6622) Masonite FG Opaque (TrilenniumN\C - Drawings\TX-4668.69.71.72.dwg, 1.4



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-865 (Sub ID 6622) Masonite FG Opaque (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, 1.5

L\ \\ u,
INTERIOR EXTERIOR INTERIOR EXTERIOR * b ;
ENDURA 33 oy
L DOOR PANEL DOOR PANEL WEATHERSTRIP . = /L DOOR PANEL £ g g
ENDURA (QEBD/PE 650),  'NIERIOR EXTERIOR N Su ¢8 8T
ENDURA \ ENDURA // e 20 2l
DOOR SWEEP WEATHERSTRIP  INTERIOR EXTERIOR c B
(DBK-R) DOOR SWEEP £Es E o3 3
: (QEBD/PE 650) 3 289 33
(DBK ZAC =T =
N 100000 S
4 ? 2 E
/ r'~ N\ . &8 gt
\h(\‘\ D 3 DOOR 3 [¢] xg :g
) - _ rl . PANEL 3 Za, 5y
| B [ \Vg ] & 308 8
13 I _} g 328 g
N ’ —2 o § @ P
' 5 E
1
& % & \ & N % & Balls
k 8
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW S
(@)
/1" \ VERTICAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION /3 "\ VERTICAL CROSS SECTION a4 gEfTI_CABL CROSS SECTION .| @
\5_/ Inswing Adjustable Threshold 5/ w;vglagcgrg;:&gmng Threshold \5_/ Oufswing Bump Threshold \_5_/ Outswing Bump Thresho c§ ; 2
Z D X
Wb oIz ©
0| =t
! i L 138
. i [E=E 5 ol
f] — f Q | =
| 456" | | 4.5¢" ! 4.56" , | 4.56" ! &l &
1)INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD "
LAIL4565 2 ZAI4565FN LAILAA4565 ZAIAA4565FN LAl4565RDS 8
KO
3|E
— TR = B o
in B} ; i o0 %
= " > ~ ElS| |o
| m}ﬁ a AR 2| B
| ’ ! SR |x
[
. 4.56" | | 456" 4.56" | s —-——J 2|5
. . . . . . . . . M e
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD 35
6 IACL4A545 7 ZAC4565FN ZIACLAA4565 IACAA4565FN ZIAC4565RDS S
(&)}
MAX. DESIGN PRESSURE = 30 PSF MAX. DESIGN PRESSURE = +30 PSF N
e
[s))
4 () 4 - 4 - lo
1 A ! S
& < 3 =_ DATE: 11,/09/16
1] 1 i J_ scaE N.T.S.
DWG. BY: JK
- 4.56" I | 4.56" ; . 4se DY i —Fc
17) QUISWING THRESHOLD 12) QUISWING THRESHOLD 13 ) QUISWING THRESHOLD 14) QUISWING THRESHOLD SRR o
1OBL4565 IOB4565FN ZOB4565RDS FOB4566 TX—4669

MAX. DESIGN PRESSURE = +55 PSF

SHEET 5 oF 6

© 2016 R.W. BUILDING CONSULTANTS ING.



RAClients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-865 (Sub ID 6622) Masonite FG Opaque (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, 1.6

HEAD ANCHORS: AW W
= g 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) #10 X 2.5" PFH WS 0”}:5 : :L;ﬁ ”
o6 (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) s e 2 S, Eu
l_"" Q.. . n b 'C.(i’.‘ E RS I ] 9
3°8 \ ‘ — me) 7 Zof, Gy B 87
< 8 __,]_._7 (TYP)6" S con = D": k;f’ w EJS Gu
= | ‘[ ~ [ L s TR
f‘*“mf’ $ 5oLV TR
- - QPr o, : 3 FEn =22
| . SEE HINGE s ! - ASTRAGAL STRIKE "(’;I/‘S\;/'S‘, } g > g @g
T @9‘/ DETAIL 1 } DETAIL1  PLATE @ HEAD JAMB 321@5: s 8 e g8
. — —— LMY o
fo ” SEE DETALL | ©E 3 232 5.
N , il 4l T JAMBANCHORS: i 268 g
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) e AZ™ 88
z #10 X 3" WOOD SCREW (1-PIECE JAMB) £ S g—
Q N £ g ui
8 " #8 X 2-1/2" PFH WS 3 e< o
EEE}‘ s v ; / F
N - [l
SEE HINGE | HBXTTPRHWS <=0 [ 1l S == #8 X 3/4" PFH Ws
DETA'L 2 N _ '\\_ 4" X 4" H’NGE o
\ =
SEEDETAIL2OR 3 < 5 ¥ &
3 " <z = 2
(3 * * == HINGE DETAIL 1 5 |43
0 Q 2 g <
T ! . ~0 \é\ & =
oL E
| #8X2-1/2'PFH WS 7 3
el ~ SILL ANCHORS: | e | S %
" #10 X 2-1/2" PFH WOOD SCREW R é/’ = ey Y 8 b
4|| TYP " 1 RN o (s
#{0e) (TYP) \—1/4"X 2-3/4' ELCO OR #EXT"PFHWS <0 | 1| *I-t~ 48X 3/4' PFH W5 & <
HINGE JAMB FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW ~— 4" X 4" HINGE 0l >
CONCRETE {MIN. 3000 PSI) i\ I )
WOOD (G >=0.42) FRAME ANCHORING v N
XX 8
HINGE DETAIL 2 s
O
*NOTE: THIS ANCHOR REQUIRED FOR D.P. > 45 PSF. § %
S8 |»
JAMB NOTES: olo| 15
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. g S %)
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. LE ol &
—
CONCRETE ANCHOR NOTES: § W
1. Concrete anchor locations at the comers may be adjusted fo maintain the min. e
edge distance to mortar joints. ‘ 3/16" X 2-3/4" [TW CONCRETE SCREW : a &
2. Concrete anchor locations noted as MAX ON CENTER" must be ad]usfed to OR ASTRAGAL PIN CAPTURE 9( >
maintain the min. edge distance to mortar joints, additional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) g "
3. Conerele anchor fable: ASTRAGAL STRIKE 1/2" DIA. HOLE (IN CAP 2l |Z
PLATE @ SILL \ / . ( ) NEE
o\ e 7 © AR | 2
1APCON® | 3/1¢" 1-3/4" 3 11/ = = = = owTE: 11,/09,/16
W scate:  N.T.S.
1apcoN® | V4 1-3/4 1172 4 owe. 8 UK
UL','ERLACCOON I 1/ " 1_3/ " 1:1 4" ]/2 DlA. HOLE DETA’L 2 DETA'L 2 DETA'L 3 CHK. BY: LFS
Ouftswing Inswing Inswing DRAWING NO.:
WOOD SCREW INSTALLATION NOTES: TX—4669
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood. SHEET 6 OF 6

@ 2016 R.W. BUILDING CONSULTANTS INC.



